| Efficiency vs Dxy |
>0.01,
% : : : : : : : : :
o : 5 5 : : 5 5 : 5
@009t T o T S o

0] SRR NS SN S SRS S S
o S A A
O e A A 0 S A
© Foo : : : : : : : :
0.006 it
R
L7 S T R e
R T i
0002 o

T SR T e SRCI B

0.9

I

0.8

........................................................................

0_725 20 15 10 5 O 5 10 15 20 25

TP dxy (cm)

—— —V0001~R000000001Global
| Efficiency vs Dz | —— DOM_V0001_R000000001 Global |

—a— U§IVI VUUUL RUUDUUUOUL — GIoDdal

MKETI0000 _RECO
mKkFit1000 "RECO
mkFit1000ATime_RECO

—V0001~"R000000001Global——mkFit1000CTime"_RECO

—mkFit1000MTime_RECO

—— D M_V0001_R000000001_G|0ba|
nNO.07, ; :
© : : : : :

e O e e
o C

1 00]:] R R O e S S
] et IDIES SO e
0,004 wvvsvvssvesdinsvessdienh
O] S TR SIS N e
S LIt DL HEE
0001§~~m~~m~~m~~m¥ ------- T R

B0 20 =10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


